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Stoichiometry Quiz ' Name, /‘/é g/

: ,Molo Mole
1. I—Iow many moles of zinc would be requlred to react WIth 0.95 moIes of copper (II)
nitrate? Zn+Cu(NO,),> Cu+Zn(NO,), .
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2 If you ‘want to producc 250 moles of water f1 om the combusuon of propane how
many moles of oxygen will need to react?
C.H; + 50, 2 4H,0 + 3CO,
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'3 The reaction of sodium phosphate with banum chloride produced 0.56 moles of

barlum phosphate How many moles of sodium chloride weré also produced‘?
' 2Na,PQ, + 3BaCl > 6NaCl + Ba;(PO,),
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4:) 10.0 grams of heptane (C;H,4 ) react with oxygen accmdlng to the followmg equation.

-How many grams of water are formed"‘

S CH, + 110, 81,0 +7CO, . // | |
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5.) Use the equation from problem 4. If you make 35.0 grams of water how many grams -

of oxygen did you use?
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6.) The reaction of sodium phosphate with iron (III) chloride produces 325.0 grams of

iron (1II) phosphate. How many grams of iron (III) chloride were reacted? N
Na,PO,+ FeCl, > FePO, + 3NaCl Y,
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7. Use equation 6 to answer the following queétion. If you have 125 gram of iron (III)
chloride how muth salt could you make? .
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-Gas Stoichiometry

8.) If 3.0 liters of N, is combined with 8.0 liters of Hz at STP, according to the 'equation
below, how many liters of NH; will be produced? Note: The equation needs to be

batanced: |
Now + 3BHyy = R NH;
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9.) The decomposition reaction for hydrogen peroxide is given below.
How many grams of hydrogen perox1de must be decomposed to produce 5.5 l:ters of
oxygen gas at STP?
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10.) Zinc reacts with hydrochloric acid (HCI) to form aqueous zinc chloride and
hydrogen gas.
Zn (S) + ZHCl (aq) # ZnC12 (an + H2 (g}

If there are 15.3 grams of HCl available to react at STP, how many liters of hydrogen gas
would be produced from this reaction?
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Stoichiometry Practice Test Name:
1) What mass of sodium hydroxide is necessary to react completely with 12.3 grams of
aluminum nitrate as shown in the following double replacement reaction? Note: you

must balance the equation.

i NaOH + ( ANO,), — 3 NaNO, + L Al(OH),

(.90 HOH

2) Cor_lsider the reaction for the combustion of propane (C;H; -- a common BBQ grill

fuel).
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A) Write the balanced equation for this reaction. (hint: in a combustion reaction propane
will react with oxygen gas to form two products)

(J}Hg‘* 5001"‘9 ‘///20 ~+ 3(09\

B) Calculate how many liters of carbon dioxide gas are formed from the combustion of
20.0 grams of propane at STP?

[ 20.5 L (0 J

3) A) Write the balanced equation for the decomposition of magnesium chloride.

chfl——e /'7j 4’ C{;_

B) 1f25.0 grams of magnesium chloride decompose, how many grams of magnesium
would form?

6,385

C) If in the lab you performed this experiment and formed 5.95 grams of magnesium,

Wh.at is your percent yield? | 0
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4) Consider the synthesis of calcium and oxygen to form calcium oxide.
A) Write the balanced equation for this reaction,

&CQ“’ O \"%XC&

B) If you react 20.0 grams of calcmm and 7.00 liters of oxygen, how many grams of
calcium oxide will form (hint: this is a limiting reactant problem)?

284 GO

) Identity the hmltmg reactant and the excess reactant in the above reaction.

Ll (aq
5) A) Balance the following equation for the siri'gl.e replacement reaction:
cL o+ Axp - A xa + Br,

B) How many grams of bromine should form from the reactlon of 80.0 grams of
~ potassium bromide and 20.0 grams of chlorine?

_ -iC) If in the lab you performed this experiment, and you were able to collect 41.0 grams
- of bromine for this reaction, what is your percent yield?
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GENERAL CHEMISTRY - STOICHIOMETRY QUIZ

The reaction of sodium phosphate with aluminum chloride produces 0.66 mole of
aluminum phosphate. How many moles of aluminum chloride were reacted?

NagPoy + Alll; —= NaCl  + AIPO,

30.0 grams of pentane (C;H,, ) reacts with oxygen according to the following equation.
How many grams of carbon dioxide are formed?

Cshy + O, —> COp + Hz0

How many liters oxygen gas would be produced from the decomposition of 0.750 liters

.___"____of sulfurrtrioxidergars? |

s, —> S + Oz

You are required to produce 25.0 liters of hydrogen gas from the following reaction.
How many grams of aluminum would you need to react in order to produce this volume

of hydrogen? - _
A+ HCO — A‘C‘g + Ho




GENERAL CHEMISTRY - STOICHIOMETRY QUIZ

The reaction of sodium phosphate with aluminum chloride produces 0.66 mole of
aluminum phosphate. How many moles of aluminum chloride were reacted?

NasPog + All; —= NaCl  + AIPO,

30.0 grafns of pentane (C;H,, ) reacts with oxygen according to the following equation.
How many grams of carbon dioxide are formed?

CsHp + Op —> COp H20

e
76650

How many liters oxygen gas would be produced from the decomposition of 0.750 liters
..._of sulfur trioxide gas?.

. & + O | N

You are required to produce 25.0 liters of hydrogen gas from the following reaction.
How many grams of aluminum would you need to react in order to produce this volume

of hydrogen? \ _
A+ HO — Al + R

204 Al




